

An Introduction To Complex Arithmetic Calculus And An Original Reformulation Of The Goldbach Conjecture.

Ikorong Annouk

Centre De Calcul; D'Enseignement Et De Recherche En Mathematiques Pures;

University of Pierre and Marie Curie (Paris 6); France

e-mail: ikorong@ccr.jussieu.fr

Abstract

Prime numbers are well known (for simple characterizations of primes via divisibility, see [11] and [12] and [13] and [14] and [15]), and the Goldbach conjecture (see [1] or [2] or [3] or [4] or [5] or [6] or [7] or [8] or [9] or [10] or [16]) states that every even integer $e \geq 4$ is of the form $e = p + q$, where q and p are prime. In this paper, we give an original reformulation of the Goldbach conjecture via complex arithmetic calculus. This reformulation shows that the Goldbach conjecture can be attacked without using strong investigations that have been on this conjecture in the past

AMS Classification 2000: 05xx and 11xx.

Keywords: goldbach, goldbachian.

Introduction

Prologue. This paper is divided into three sections. In Section.1, we introduce definitions that are not standard and we present some elementary properties deduced from these definitions. In Section.2, using definitions of Section.1, we give the trivial reformulation of the Goldbach conjecture that we will use in Section.3. In Section.3, we prove a proposition linked to complex arithmetic calculus and we use it to give an original reformulation of the Goldbach conjecture via the trivial reformulation of Section.2. This original reformulation shows that the Goldbach conjecture can be attacked without using strong investigations that have been on this conjecture in the past, and by using only complex arithmetic calculus.

1. Non-standard definitions and simple properties.

Definition 1.0. We say that e is *goldbach*, if e is an even integer ≥ 4 and is of the form $e = p + q$, where p and q are prime. Note that the Goldbach conjecture (see Abstract) states that every even integer $e \geq 4$ is *goldbach*.

Example 1.0.0. 4 is *goldbach*, since 4 is an even integer ≥ 4 and $4 = 2 + 2$, where 2 is prime; 6 is *goldbach*, since 6 is an even integer ≥ 4 and $6 = 3 + 3$, where 3 is prime; 8 is *goldbach*, since 8 is an even integer ≥ 4 and $8 = 3 + 5$, where 3 and 5 are prime; 10 is *goldbach*, since 10 is an even integer ≥ 4 and $10 = 3 + 7$, where 3 and 7 are prime; 12 is *goldbach*, since 12 is an even integer ≥ 4 and $12 = 5 + 7$, where 5 and 7 are prime; and 1764 is also *goldbach*, because 1764 is an even integer ≥ 4 and is of the form $1764 = 883 + 881$, where 883 and 881 are prime.

That being so, let us define:

Definition 1.1. We say that e is *goldbachian*, if e is an even integer ≥ 4 and if every even integer v such that $4 \leq v \leq e$ is of the form $v = p_v + q_v$, where p_v and q_v are prime; *in other worlds*, we say that e is *goldbachian*, if e is an even integer ≥ 4 and if every even integer v with $4 \leq v \leq e$ is *goldbach* (see Definition 1.0 for the meaning of *goldbach*); *in other terms again*, we say that e is *goldbachian*, if e is an even integer ≥ 4 and v is an even integer of the form $4 \leq v \leq e$, *implies that* v is *goldbach*. Using the previous definition, then we have the following trivial remarks.

Remark 1.1.0 12 is golbachian.

Proof. Indeed, observe (by using Example 1.0.0 of Definition 1.0) that 12 is an even integer ≥ 4 , and every even integer v of the form $4 \leq v \leq 12$ is golbach; consequently 12 is golbachian.

Remark 1.1.1. If d is golbachian and if d' is an even integer of the form $4 \leq d' \leq d$, then d' is also golbachian.

Proof. Immediate and is a trivial consequence of the definition of golbachian introduced above.

Remark 1.1.2. 12 and 10 and 8 and 6 and 4 are simultaneously golbachian.

Proof. Immediate and is a trivial consequence of Remark 1.1.0 and Remark 1.1.1.

Remark 1.1.3. For every integer $n \in \{1, 2, 3, 4, 5\}$, $2n + 2$ is golbachian .

Proof. Immediate and is a trivial consequence of Remark 1.1.2.

Note that golbachian implies goldbach; so there is no confusion between goldbachian and golbach. Having defined golbach and golbachian, then it comes:

Definitions 1.2. For every integer $n \geq 2$, we define $\mathcal{G}(n)$, g_n , $\mathcal{G}(n + 1)$ and g_{n+1} as follows:

$\mathcal{G}(n) = \{g; 1 < g \leq 2n, \text{ and } g \text{ is goldbachian}\}$, and $g_n = \max_{g \in \mathcal{G}(n)} g$. Using the definitions of $\mathcal{G}(n)$ and g_n , then it becomes

trivial to deduce that for every integer $n \geq 1$, we clearly have

$\mathcal{G}(n + 1) = \{g; 1 < g \leq 2n + 2, \text{ and } g \text{ is goldbachian}\}$, and $g_{n+1} = \max_{g \in \mathcal{G}(n+1)} g$. It is immediate that $\mathcal{G}(n) \subseteq \mathcal{G}(n + 1)$ for

every integer $n \geq 2$, and therefore $g_n \leq g_{n+1}$ for every integer $n \geq 2$. Using the previous definitions, then we have the following trivial remarks.

Remark 1.2.0 If $n \geq 2$, then $\mathcal{G}(n) \subseteq \mathcal{G}(n + 1)$ and $g_n \leq g_{n+1}$. **Proof.** Immediate (it suffices to use the definitions of $\mathcal{G}(n)$, $\mathcal{G}(n + 1)$, g_n and g_{n+1}).

Remark 1.2.1. If $g_{n+1} \neq 2n + 2$, then $\mathcal{G}(n + 1) = \mathcal{G}(n)$ and $g_{n+1} = g_n$. **Proof.** Immediate and is a trivial consequence of the definition of $(\mathcal{G}(n), g_n, \mathcal{G}(n + 1), g_{n+1})$ introduced above.

Remark 1.2.2. If $g_{n+1} \leq 2n$, then $\mathcal{G}(n + 1) = \mathcal{G}(n)$ and $g_{n+1} = g_n$. **Proof.** Observe that $g_{n+1} \neq 2n + 2$ and use Remark 1.2.1.

Remark 1.2.3. For every integer $n \in \{1, 2, 3, 4, 5\}$, we have $g_{n+1} = 2n + 2$. **Proof.** Immediate and is a trivial consequence of Remark 1.1.3 and the definition of g_{n+1} .

Now using the definitions of $\mathcal{G}(n + 1)$ and g_{n+1} , then the following Proposition becomes trivial.

Proposition 1.3. Let n be an integer ≥ 2 . We have the following seven trivial properties.

(1.3.0.) g_{n+1} is even and $g_{n+1} \leq 2n + 2$.

(1.3.1.) $g_{n+1} = 2n + 2$, if and only if, $2n + 2$ is golbachian (in other words, $g_{n+1} \neq 2n + 2$, if and only if, $2n + 2$ is not golbachian).

(1.3.2.) $g_n \leq g_{n+1}$.

(1.3.3.) If $g_{n+1} < 2n + 2$, then $2n + 2$ is not golbachian.

(1.3.4.) If $2n + 2 \leq e$ and if e is golbachian, then $2n + 2$ is golbachian.

(1.3.5.) (An implicite using of the Goldbach formula). If $g_{n+1} < 2n + 2$, then $2n + 2$ is not golbachian and there exists an integer e such that $1 \leq e \leq n$ and $2e + 2$ can not be of the form $2e + 2 = p_e + q_e$, where p_e and q_e are prime.

(1.3.6.) (An explicite using of the Goldbach formula). $g_{n+1} = 2n + 2$, if and only if, for every integer n' such that $1 \leq n' \leq n$, we have $2n' + 2 = p_{n'} + q_{n'}$, where $p_{n'}$ and $q_{n'}$ are prime.

Proof. Properties (1.3.0) and (1.3.1) are immediate (it suffices to use the definition of g_{n+1}). Property (1.3.2) is

trivial (it suffices to use the definition of g_{n+1} via the definition of g_n); and property (1.3.3) is a trivial consequence of property (1.3.1). Property (1.3.4) is an immediate consequence of Remark 1.1.1 of Definition 1.1. Property (1.3.5) is trivial (it suffices to use property (1.3.3) and the definition of golbachian (see Definition 1.1)), and property (1.3.6) is an immediate consequence of the definition of golbachian and the definition of g_{n+1} (see Definition 1.1 for golbachian and Definitions 1.2 for g_{n+1}).

We will use g_{n+1} to give the trivial reformulation of the Goldbach conjecture.

2. The trivial reformulation of the Goldbach conjecture.

Theorem 2.1. *The following are equivalent.*

- (1). For every integer $n' \geq 1$, we have $2n' + 2 = p_{n'} + q_{n'}$, where $p_{n'}$ and $q_{n'}$ are prime.
- (2) The Goldbach conjecture is true [i.e. every even integer $e \geq 4$ is of the form $e = p_e + q_e$, where p_e and q_e are prime].
- (3) For every integer $n \geq 1$, $2n + 2$ is goldbachian.
- (4) For every integer $n \geq 1$, we have $g_{n+1} = 2n + 2$.

Proof. (1) \Rightarrow (2)] Immediate [since property (2) is only the obvious reformulation of property (1)]; (2) \Rightarrow (3)] Immediate [it suffices to use the meaning of the Goldbach conjecture and the definition of goldbachian]; (3) \Rightarrow (4)] Immediate [it suffices to use the definition of goldbachian and the definition of g_{n+1}]; (4) \Rightarrow (1)] Immediate, by using property (1.3.6) of Proposition 1.3.

Theorem 2.1 is the trivial reformulation of the Goldbach conjecture. Theorem 2.1 will help us in Section.3 to give an original reformation of the Goldbach conjecture via complex arithmetic calculus. Before, we need the following elementary combinatoric remark.

Remark 2.2. *Let n be an integer ≥ 1 ; consider $\mathcal{G}(n+1)$ and g_{n+1} (see Definitions 1.2). We have the following four properties.*

- (2.2.0.) g_{n+1} is even and $4 \leq g_{n+1} \leq 2n + 2$.
- (2.2.1.) **If** $g_{n+1} \neq 2n + 2$, then: $n > 5$ and $g_{n+1} = g_n$.
- (2.2.2.) (An implicate using of the Goldbach formula). **If** $g_{n+1} \neq 2n + 2$, then: $n > 5$ and $g_{n+1} = g_n$ and there exists an integer e such that $1 \leq e \leq n$ and $2e + 2$ can not be of the form $2e + 2 = p + q$, where p and q are prime.
- (2.2.3.) (Another implicate using of the Goldbach formula). **If** $g_{n+1} \leq 2n$, then: $n > 5$ and $g_{n+1} = g_n$ and there exists an integer e such that $1 \leq e \leq n$ and $2e + 2$ can not be of the form $2e + 2 = p + q$, where p and q are prime.

Proof. Property (2.2.0) is immediate. Indeed, it is immediate (by using the definition of g_{n+1}) that g_{n+1} is even. It is trivial that 4 is goldbachian (use Remark 1.1.2 of Definition 1.1) and $4 = 2(1 + 1)$; so $4 \in \mathcal{G}(n+1)$ and therefore $g_{n+1} \geq 4$. It is immediate that $g_{n+1} \leq 2n + 2$ (use the definition of g_{n+1}). Now using the previous two inequalities, then it becomes trivial to deduce that $4 \leq g_{n+1} \leq 2n + 2$. Property (2.2.0) follows. Property (2.2.1) is also immediate. Indeed, if $g_{n+1} \neq 2n + 2$, clearly $n > 5$ (since $g_{n+1} = 2n + 2$ for $n \in \{1, 2, 3, 4, 5\}$), by using Remark 1.2.3 of Definitions 1.2), and clearly

$$\mathcal{G}(n+1) = \mathcal{G}(n) \text{ and } g_{n+1} = g_n$$

(observe that $g_{n+1} \neq 2n + 2$ and use Remark 1.2.2 of Definitions 1.2). Property (2.2.1) follows. Property (2.2.2) is only the trivial reformulation of property (2.2.1), by using the definition of g_{n+1} and g_n (see Definitions 1.2). Propoperty (2.2.3) is an immediate consequence of propoperty (2.2.2) (Indeed observe that $g_{n+1} \neq 2n + 2$ and use propoperty (2.2.2)). Remark 2.2 immediately follows.

We will use Remark 2.2 in Section.3 to give an original reformulation of the Goldbach conjecture via complex arithmetic calculus.

3. Properties linked to complex arithmetic calculus and an original reformation of the Goldbach conjecture.

In this section, we prove a proposition linked to complex arithmetic calculus and we use it to give an original reformulation of the Goldbach conjecture. This original reformulation via complex arithmetic calculus shows that the Goldbach conjecture can be attacked without using strong investigations that have been done on this conjecture in the past. Before, we need the following last definition.

Definition 3.0 (Fundamental). Let n be an integer ≥ 1 and let g_{n+1} (see Definitions 1.2); then ϕ_n is defined as follows.

$$\phi_n = (ig_{n+1}^3 - 2ing_{n+1}^2 + 2n)^2, \quad i^2 = -1.$$

It is immediate that for every integer $n \geq 1$, ϕ_n is well defined and gets sense. Now using Definition 3.0, then we have the following elementary Proposition linked to complex arithmetic calculus.

Proposition 3.1 *Let n be an integer ≥ 2 and let g_{n+1} (see Definitions 1.2); now look at ϕ_n introduced in Definition 3.0, and via ϕ_n , consider ϕ_{n-1} (this consideration gets sense, since $n \geq 2$, and therefore $n - 1 \geq 1$). **If** $g_{n+1} \neq 2n + 2$, then we have the following two simple properties.*

- (3.1.0.) (Implicite using of the Goldbach formula). $g_{n+1} = g_n$ and there exists an integer e such that $1 \leq e \leq n$ and

$2e + 2$ can not be of the form $2e + 2 = p + q$, where p and q are prime.
 (3.1.1.)

$$\phi_{n-1} - \phi_n = -4g_{n+1}^5 - 4g_{n+1}^4 - 4ig_{n+1}^3 - 8ig_{n+1}^2 - 8n + 4 + 8ng_{n+1}^4 + 16ing_{n+1}^2.$$

Proof. (3.1.0). Indeed observing (by the hypotheses) that $g_{n+1} \neq 2n + 2$, clearly $g_{n+1} = g_n$ and there exists an integer e such that $1 \leq e \leq n$ and $2e + 2$ can not be of the form $2e + 2 = p + q$, where p and q are prime. (use property (2.2.2) of Remark 2.2). Property (3.1.0) follows.
 (3.1.1). Indeed, look at ϕ_n , and observe (by Definition 3.0) that

$$\phi_n = (ig_{n+1}^3 - 2ing_{n+1}^2 + 2n)^2 \tag{3.1}$$

Now let $n - 1$ and look at ϕ_{n-1} ; then using equality (3.1), it becomes trivial to deduce that

$$\phi_{n-1} = (ig_n^3 - 2i(n-1)g_n^2 + 2(n-1))^2 \tag{3.2}$$

Noticing (by property (3.1.0)) that $g_{n+1} = g_n$ and using the preceding equality, then it becomes trivial to deduce that equality (3.2) clearly says that

$$\phi_{n-1} = (ig_{n+1}^3 - 2i(n-1)g_{n+1}^2 + 2(n-1))^2 \tag{3.3}$$

It is elementary to see that equality (3.3) clearly says that

$$\phi_{n-1} = (ig_{n+1}^3 - 2ing_{n+1}^2 + 2n + 2ig_{n+1}^2 - 2)^2 \tag{3.4}$$

Look at equality (3.4); observing (by elementary computation) that

$$(ig_{n+1}^3 - 2ing_{n+1}^2 + 2n + 2ig_{n+1}^2 - 2)^2 = \lambda_n \tag{3.5}$$

where

$$\lambda_n = (ig_{n+1}^3 - 2ing_{n+1}^2 + 2n)^2 + 2(2ig_{n+1}^2 - 2)(ig_{n+1}^3 - 2ing_{n+1}^2 + 2n) + (2ig_{n+1}^2 - 2)^2 \tag{3.5'}$$

then, using equalities (3.5) and (3.5') it becomes trivial to deduce that equality (3.4) says that

$$\phi_{n-1} = (ig_{n+1}^3 - 2ing_{n+1}^2 + 2n)^2 + 2(2ig_{n+1}^2 - 2)(ig_{n+1}^3 - 2ing_{n+1}^2 + 2n) + (2ig_{n+1}^2 - 2)^2 \tag{3.6}$$

Using equality (3.1), then it becomes elementary do deduce that equality (3.6) says that

$$\phi_{n-1} = \phi_n + 2(2ig_{n+1}^2 - 2)(ig_{n+1}^3 - 2ing_{n+1}^2 + 2n) + (2ig_{n+1}^2 - 2)^2 \tag{3.7}$$

Observing (by elementary computation and the fact that $i^2 = -1$) that

$$2(2ig_{n+1}^2 - 2)(ig_{n+1}^3 - 2ing_{n+1}^2 + 2n) + (2ig_{n+1}^2 - 2)^2 = \lambda'_n \tag{3.8}$$

where

$$\lambda'_n = -4g_{n+1}^5 - 4g_{n+1}^4 - 4ig_{n+1}^3 - 8ig_{n+1}^2 - 8n + 4 + 8ng_{n+1}^4 + 16ing_{n+1}^2 \tag{3.8'}$$

then, using equalities (3.8) and (3.8'), it becomes trivial to deduce that equality (3.7) says that

$$\phi_{n-1} = \phi_n - 4g_{n+1}^5 - 4g_{n+1}^4 - 4ig_{n+1}^3 - 8ig_{n+1}^2 - 8n + 4 + 8ng_{n+1}^4 + 16ing_{n+1}^2 \tag{3.9}$$

Using equality (3.9), then we immediately deduce that

$$\phi_{n-1} - \phi_n = -4g_{n+1}^5 - 4g_{n+1}^4 - 4ig_{n+1}^3 - 8ig_{n+1}^2 - 8n + 4 + 8ng_{n+1}^4 + 16ing_{n+1}^2.$$

Property (3.1.1) follows and Proposition 3.1 immediately follows.

Having proved the previous simple Proposition linked to complex arithmetic calculus, we are now ready to give an original reformulation of the Goldbach conjecture.

Theorem 3.2 (An original reformulation of the Goldbach conjecture). *The following are equivalent.*

- (1) *The Goldbach conjecture is true [i.e. every even integer $e \geq 4$ is of the form $e = p + q$, where p and q are prime].*
- (2) *For every integer $n \geq 2$*

$$\phi_{n-1} - \phi_n \neq -4g_{n+1}^5 - 4g_{n+1}^4 - 4ig_{n+1}^3 - 8ig_{n+1}^2 - 8n + 4 + 8ng_{n+1}^4 + 16ing_{n+1}^2.$$

Proof. (1) \Rightarrow (2)]. Observe (by remarking that the Goldbach conjecture is true and by using Theorem 2.1) that

$$\text{For every integer } n \geq 1, \text{ we have } g_{n+1} = 2n + 2 \tag{3.10}$$

Using the definition of g_{n+1} , then it becomes trivial to deduce that (3.10) clearly implies that

$$\text{For every integer } n \geq 2, \text{ we have } g_n = 2n \tag{3.11}$$

Now look at ϕ_n introduced in Definition 3.0; then using equality of (3.10), it becomes trivial to deduce that

$$\phi_n = (2ig_{n+1}^2 + 2n)^2 \quad (3.12).$$

That being so, consider ϕ_{n-1} (this consideration gets sense, since $n \geq 2$, and therefore $n-1 \geq 1$), then using equality of (3.11), it becomes trivial to deduce that

$$\phi_{n-1} = (ig_n^3 - 2i(n-1)g_n^2 + 2(n-1))^2 = (2n + 2ig_n^2 - 2)^2 \quad (3.13).$$

Using equalities (3.12) and (3.13), then it becomes trivial to check (by elementary computation and the fact that $i^2 = -1$ and by using (3.10) and (3.11)) that

$$\phi_{n-1} - \phi_n \neq -4g_{n+1}^5 - 4g_{n+1}^4 - 4ig_{n+1}^3 - 8ig_{n+1}^2 - 8n + 4 + 8ng_{n+1}^4 + 16ing_{n+1}^2.$$

(1) \Rightarrow (2)] Otherwise (we reason by reduction to absurd), let n be an integer ≥ 1 such that

$$g_{n+1} \neq 2n + 2 \quad (3.14)$$

(observe that such a n exists, by remarking that the Goldbach conjecture is false and by using Theorem 2.1). Clearly

$$n > 5 \quad (3.15)$$

(use (3.14) and property (2.2.1) of Remark 2.2). Using (3.14) and (3.15), then it becomes immediate to deduce all the hypotheses of Proposition 1.3 are satisfied for such a n ; therefore, all the conclusion of Proposition 1.3 are satisfied for such a n ; in particular, property (3.1.1) of Proposition 1.3 is satisfied for such a n . Consequently

$$\phi_{n-1} - \phi_n = -4g_{n+1}^5 - 4g_{n+1}^4 - 4ig_{n+1}^3 - 8ig_{n+1}^2 - 8n + 4 + 8ng_{n+1}^4 + 16ing_{n+1}^2,$$

and the previous equality gives rise to a serious contradiction.

Theorem 3.2 is an original reformulation of the Goldbach conjecture via complex arithmetic calculus and is stronger than all the investigations that have been done on the Goldbach conjecture in the past. Indeed, Theorem 3.2 clearly says that: if for every integer $n \geq 2$, $\phi_{n-1} - \phi_n \neq -4g_{n+1}^5 - 4g_{n+1}^4 - 4ig_{n+1}^3 - 8ig_{n+1}^2 - 8n + 4 + 8ng_{n+1}^4 + 16ing_{n+1}^2$, then the Goldbach conjecture immediately follows. Visibly, Theorem 3.2 is not related to all the investigations that have been done on the Goldbach conjecture in the past and can be transformed to attack the Goldbach conjecture in an original way.

References

- [1] A. Schinzel, *Sur une consequence de l'hypothèse de Goldbach*. Bulgar. Akad. Nauk. Izv. Mat. Inst.4, (1959). 35 – 38.
- [2] Bruce Schechter. *My brain is open (The mathematical journey of Paul Erdos)* (1998). 10 – 155.
- [3] Dickson. *Theory of Numbers (History of Numbers. Divisibility and primality)* Vol 1. Chelsea Publishing Company. New York, N.Y (1952). Preface.III to Preface.XII.
- [4] Dickson. *Theory of Numbers (History of Numbers. Divisibility and primality)* Vol1. Chelsea Publishing Company. New York, N.Y (1952).
- [5] G.H Hardy, E.M Wright. *An introduction to the theory of numbers. Fifth Edition. Clarendon Press. Oxford.*
- [6] Ikorong Annouk. *An alternative reformulation of the Goldbach conjecture and the twin primes conjecture*. Mathematicae Notae. Vol XLIII (2005). 101 – 107.

- [7] Ikorong Annouk. *Around The Twin Primes Conjecture And The Goldbach Conjecture I. Tomul LIII, Analele Stiintifice Ale Universitatii "Sectiunea Matematica"*. (2007). 23 – 34.
- [8] Ikorong Annouk. *Playing with the twin primes conjecture and the Goldbach conjecture. Alabama Journal of Maths; Spring/Fall 2008*. 47 – 54.
- [9] Ikorong Annouk. *Runing With The Twin Primes, The Goldbach Conjecture, The Fermat Primes Numbers, The Fermat Composite Numbers, And The Mersenne Primes*; Far East Journal Of Mathematical Sciences; Volume 40, Issue 2, May2010, 253 – 266.
- [10] Ikorong Annouk. *A Recreation Around The Goldbach Problem And The Fermat's Last Problem*. Asian Journal of Mathematics and Applications; 2013.
- [11] Ikorong Annouk. *Nice Rendez Vous With Primes And Composite Numbers*. South Asian Journal Of Mathematics; Vol1 (2); 2012, 68 – 80.
- [12] Ikorong Annouk. *Placed Near The Fermat Primes And The Fermat Composite Numbers*. International Journal Of Research In Mathematic And Apply Mathematical Sciences; Vol3; 2012, 72 – 82.
- [13] Ikorong Annouk. *Around Prime Numbers And Twin Primes*. Theoretical Mathematics And Applications; Vol3, No1; 2013, 211 – 220.
- [14] Ikorong Annouk. *Meeting With Primes And Composite Numbers*. Asian Journal of Mathematics and Applications; 2013.
- [15] Ikorong Annouk. *Invited By The Mersenne Primes, The Mersenne Composite Numbers, And The Perfect Numbers*. ARPN Journals Of Sciences And Technology; Vol5, No1; 2015.
- [16] Paul Hoffman. *The man who loved only numbers. The story of Paul Erdős and the search for mathematical truth*. **1998**. 30 – 49.